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Exam : Jan. Last Week / Feb 1st Week Exam : Jan. Last Week / Feb 1st Week

 


(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

 


(A) (B)

 (C) (D)

          
(A)   (B)

 (C) (D)

 
(A) (B)
(C) (D)

        

 
(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

1. When Prime Minister Narendra Modi has 
started Beti Bachao-Beti Padho Abhiyan?

 (A)  20 January, 2015 (B) 21 January, 2015
 (C)  22 January, 2015 (D) 23 January, 2015
2. Which new City came in existence in 18th

century ?
 (A)  Bombay (B) Calcutta
 (C)  Madras (D) All the Above
3. Who created 'Ram Charitra Manas' ?
 (A)  Namdev (B) Kabir
 (C)  Tulsidas (D) Surdas
4. Best Source of Vitamic C is –
 (A) Apple (B) Mango
 (C) Amla (D) Milk
5. 3rd Battle of Panipat was fought in –
 (A)  1526 (B) 1556
 (C)  1761 (D) 1857
6. According to traffic rules which sign is used 

for 'speed breaker' ?
 (A) (B) 
 
 

 (C) (D) 

7. Sign is used for sign of square ?
 (A) (B) 
 
 
 (C) (D) 

8. Grass Lands of North America are called ?
 (A)  Priary (B) Weild
 (C)  Stapi (D) Pampas
9. Which means of communication became most 

prevalent in our country?
 (A)  Radio (B) Television
 (C)  Internet (D) None of these
10. In which continent Laddakh is situated ?
 (A)  Africa (B) Asia
 (C)  North America (D) South America
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11. For which mineral Johansberg is famous ?

 (A)  Gold (B) Diamond

 (C)  Coal (D) Iron

12. Which party won maximum numbers of seats 

in Delhi legislative assembly election?

 (A)  BJP (B) AAP

 (C)  Congress (D) INLD

13. Who settled Jaipur city ?

 (A)  Sawai Raja Jai Singh (B) Raja Ajit Singh

 (C)  Raja Maan Singh (D) Raja Todermal

14. Who is finance minister of haryana at present ?

 (A)  M. L. Khatter (B) Capt. Abhimanyu

 (C)  Rambilas Sharma (D) Anil Vij

15. To Which State Gangtok is associated ?

 (A)  Himachal Pradesh (B) Sikkim

 (C)  Jharkhand (D) West Bengal

16. First country which introduced paper currency

 (A)  India (B) Japan

 (C)  China (D) Russia

17. Where 'Statue of Liberty' is situated ?

 (A)  New York (B) Paris

 (C)  Mascow (D) Agra

18. What was name of Arjuna's son ?

 (A)  Parikshit (B) Ghatotkach

 (C)  Abhimanyu (D) All the above

19. When was Mahatma Gandhi assasinated ?

 (A)  30 February 1948 (B) 30 January 1948

 (C)  02 October 1869 (D) 15 August 1947

20. For whom ambulance service is free of cost ?

 (A)  People above 70 year age.

 (B)  Victims of Road Accidents.

 (C)  For expected mothers.

 (D)  All the above.

21. 'Free Style' word is associated with ?

 (A)  Hammer Throw (B) Swimming

 (C)  Wrestling (D) Polo

 
(A) (B)
(C) (D)

 



(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A)

 (B)

(C) (D)

 

(A) (B)

(C) (D)

Exam : Jan. Last Week / Feb 1st Week Exam : Jan. Last Week / Feb 1st Week


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22. Who was the inventor of Gurumukhi Lipi ?

 (A)  Guru Nanak Dev (B) Aangad

 (C)  Guru Gobind Singh (D) Amar Dass

23. Census of India is done after an interval of ?

 (A)  8 Years (B) 5 Years

 (C)  10 Years (D) 15 Years

24. Who is different from others on behalf
of games?

 (A)   (B) 

 (C) (D)

25. Which building is not situated in Rajasthan?

 
 (A)   (B) 

 
 (C) (D)

 

(A) (B)

(C) (D)

  



(A) (B)

(C) (D)

 
(A)   (B)

 (C) (D)

 

 (A)   (B)

 (C) (D)

fgUnh

 
(A) (B)
(C) (D)

 
(A) (B)

(C) (D)
 

(A) (B)
(C) (D)

        

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)
 

(A) (B)

(C) (D)
 

(A) (B)

(C) (D)
 



(A) (B)

(C) (D)

Exam : Jan. Last Week / Feb 1st Week Exam : Jan. Last Week / Feb 1st Week


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(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

          



(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 



(A) (B)

(C) (D)

 

(A) (B)

ENGLISH

 49.  ......... you go to the town, convey my message 
to him. 

 (A) should (B) can 
 (C) will (D) Would 
v In each of the following questions, choose the 

correctly spelt word.
50. (A) Responsibility (B) Responsblity
 (C) Ressponsibility (D) Respensibiliy
51. (A) manfacturred (B) manufactured 
 (C) manufactured (D) manfactured
v Fill in the blanks with suitable Articles.
52. Kalidas is ............ Shakespeare of India.
 (A) A (B) An
 (C) The (D) None
53.  ............. doctor is respected in society.
 (A) A (B) The
 (C) An (D) None
v Change the Narration in the following sentences :
54. Ram said, "Mohan has gone to Delhi."
 (A) Ram said Mohan had gone to Delhi.
 (B) Ram said that Mohan had gone to Delhi.
 (C) Ram told that Mohan had gone to Delhi.
 (D) Ram told Mohan had gone to Delhi. 
55. He said to me," you have gone mad".
 (A) He told me that I had gone mad.
 (B) He said me that you have gone mad.
 (C) He told to me you have gone mad.
 (D) He said that me you have gone mad. 

v Re-arrange each set of words to make 
sentences. 

41. 1. wise  2. every  3. a   4. is  5. proverb  6.saying
 (A) 216435 (B) 256431
 (C) 214635 (D) 215436
42. 1. see   2. you   3. can   4. from   5. me   6.there
 (A) 231546 (B) 315246
 (C) 621543 (D) 521346
43. 1. an   2. it   3. was   4.trip   5. interesting
 (A) 23154 (B) 23541
 (C) 31245 (D) 32154 
v Fill in the blanks with correct form of Non-

Finites.
44. We were not permitted ......... the hospital.
 (A) enter (B) to enter
 (C) entering (D) none
45. You had better ........ this business soon.
 (A) start (B) to start
 (C) starting (D) started
46. I hope ............ the exam this time.
 (A) passing (B) to pass
 (C) Passed (D) none 
v Fill in the blanks with appropriate modals.
47. I .......... like to stay here for today.
 (A) shall (B) will
 (C) Need (D) Would
48. You ........ take light exercise for some days.
 (A) should (B) would
 (C) will (D) Can 

Exam : Jan. Last Week / Feb 1st Week Exam : Jan. Last Week / Feb 1st Week


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SCIENCE

 

(A) (B)

(C) (D)

        



(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

     

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A)    (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

56.  Rabi Crop is. 

 (A) Gram (B) Barley

 (C) Cotton (D) Moonge 

57.  For Strong bone and teeth which of the 
following is required? 

 (A) Vitamin A (B) Vitamin C

 (C) Vitamin D (D) None

58.  In which part of body bone-joint is prsent? 

 (A) In Elbow (B) In Neck

 (C) Both A and B (D) None

59.  Normal temperature of human body is –
0 0 (A) 0  C (B) 25  C

0 0
 (C) 37  C (D) 42  C

60.  Kinds of crops according to seasons –

 (A) 4 (B) 3

 (C) 2 (D) 1

61.  What is most rich in protein?

 (A) Soyabean (B) Groundnut

 (C) Pea (D) Rice

62.  In which age adolescents get maximum 
height?

 (A) 16 Years (B) 18 Years

 (C) 20 Years (D) 23 Years

63.  Gravitational force is found on?

 (A) Moon (B) Earth

 (C) Mercury (D) All the above

64.  Force can bring change in object's –

 (A) From state of rest to motion

 (B) Change in motion

 (C) Change in direction

 (D) All the above

65.  Force of match box is made for?

 (A) Looking beautiful (B) making strong

 (C) Increasing friction (D) Decreasing friction

66.  Sound is produced by man through?

 (A) Mouth (B) Tongue

 (C) Throat (D) Nose

Exam : Jan. Last Week / Feb 1st Week Exam : Jan. Last Week / Feb 1st Week


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 Class : 7-8

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

67.  .......... is good conductor of electricity?

 (A) Wet hands (B) Wet wood

 (C) Copper wire (D) All the above

68.  Name of centre of earth is?

 (A) Interior Crode (B) Exterior Crode

 (C) Pravar (D) Surface

69.  Which is not part of our eye?

 (A) Mirror (B) Lens

 (C) Irish (D) Cornea

70.  In which direction earth moves on its axis?

 (A) West to East (B) East to West

 (C) North to South (D) South to North

COMPUTER

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 (GB)

(A)GB (B)TB

(C)KB (D)MB

 

(A)* Doc. (B)* PPF.

(C)* NLS. (D)* R + F.

 

(A)MP# (B)

(C) (D)

71.  Third generation of computer is –

 (A) 1958-1975 (B) 1966-1978

 (C) 1956-1971 (D) 1955-1971

72.  Printer is device of –

 (A) Output Device (B) Input Device

 (C) Both A and B (D) None

73.  A Giga byte contains –

 (A) 1024 GB (B) 1024 TB

 (C) 1024 KB (D) 1024 MB

74.  What is the extension of microsoft of MS Word?

 (A) * Doc. (B) * PPF.

 (C) * NLS.  (D) * R + F.

75.  Which is not part of hardware?

 (A) MP# File (B) Mouse

 (C) Keyboard (D) Moniter

Mental Ability

v 

        



 

(A) (B)

(C) (D)

v Below given options are related to one 
another in some way. First is related to 
second, same the third is to fourth, Mark the 
correct option.

76. Chilka Lake : Orrisa : : Sambhar Lake : ? 

 (A) Rajasthan (B Jammu & Kashmir

 (C) Delhi (D) India

Exam : Jan. Last Week / Feb 1st Week Exam : Jan. Last Week / Feb 1st Week


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 Class : 7-8

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

v 
       


 (A) (B)

(C) (D)

 (A) (B)

(C) (D)


 




  

  

  

  

  

77. Force : Newton : : Rain : ? 

 (A) Flood (B) Monsoon

 (C) Centimeter (D) Kilometer

78. Smoke : Pollution : : War : ? 

 (A) Agreement (B) Destruction

 (C) Peace (D) Victory

v Three of below given are associated to a 

group. which is diffrent

79. (A) Brinjal (B) Banana

 (C) Apple (D) Orange

80. (A) Car (B) Bus

 (C) Transport (D) Train

v  In each question four question figures and 

four answer figures are given. All question 

figures make a series. Choose the correct 

option from answer figures.

81.  Question Picture Answer Picture

82.  Question Picture Answer Picture

83.  Question Picture Answer Picture

84.  Question Picture Answer Picture

85.  Question Picture Answer Picture

(A)         (B)         (C)         (D)

(A)         (B)         (C)         (D)

(A)         (B)         (C)         (D)

(A)         (B)         (C)         (D)

(A)         (B)         (C)         (D)

(A)         (B)         (C)         (D)

(A)         (B)         (C)         (D)

(A)         (B)         (C)         (D)

(A)         (B)         (C)         (D)

(A)         (B)         (C)         (D)

Exam : Jan. Last Week / Feb 1st Week Exam : Jan. Last Week / Feb 1st Week





10
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MATHS

 



(A) (B)

(C) (D)

 

(A)M (B)C
(C)L (D)XXX

 L.C.M. 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 


(A) (B)

(C) (D)

 

(A)2 (2L+b) (B)L + B

(C)2L+B (D)2L + 2B 

 

(A) (B)

(C) (D)

 


(A) (B)

(C) (D)

 


(A) (B)

(C) (D)

 


(A) (B)

(C) (D)

86.  A can do a work in 15 days and B in 20 days. If 
they work on it together for 4 days, then the 
remain part of the work left is :-

 (A) 1/4 (B) 1/10

 (C) 7/15 (D) 8/15

87.  How 30 can be writtne in Roman Language?

 (A) M (B) C

 (C) L (D) XXX

88.  What is L.C.M. of 9 and 16 ?

 (A) 144 (B) 150

 (C) 154 (D) 1

89.  Find the lowest common multiple of 24, 36 
and 40 ?

 (A) 120 (B) 240

 (C) 360 (D) 480

90.  A person crosses 600 m long street in 5  
minutes. What is his speed in km per hour ?

 (A) 3.6 (B) 7.2

 (C) 8.4 (D) 10

91.  The formula for perimeter of rectangle is –

 (A) 2 (2L + B) (B) L + B

 (C) 2L + B (D) 2L + 2B

92.  Convert 31253 ml into litre –

 (A) 3.1253L (B) 31.253L

 (C) 312.53L (D) 3125.3L

93.  Smallest Number made from 5,4,3,1 is.

 (A) 1345 (B) 1413

 (C) 1534 (D) 1545

94.  A Labourer earns Rs. 165 in 30 days. How 
much will he earn in 18 days?

 (A) 99 (B) 100

 (C) 101 (D) 102

95.  Sum of two number's is 11009. If one number 
is 9999, what will be the second number?

 (A) 2110 (B) 1010

 (C) 21008 (D) 1110
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 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

96.  One Million = ...................... lacs.

 (A) 10 (B) 100

 (C) 1000 (D) 1

97.  Predecessor of number 94 is?

 (A) 92 (B) 93

 (C) 95 (D) 96

98.  Which number is figured as triangular?

 (A) 5 (B) 11

 (C) 4 (D) 7

99.  Which number is written as square?

 (A) 3 (B) 5

 (C) 7 (D) 9

100.  How many prime numbers are there between 
1 to 50?

 (A) 15 (B) 14

 (C) 25 (D) 24

ROUGH WORK / 
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